HEBILEN HES

EISEHN (BT TH=EEFEMIERRF)
BEREARE
(B) ¥Ek31F4818 (8) SH243H31H
(847 : 1)
HENE AT B DEBE RSB &F PIERERB I PN
REBZI 51,554, 344 51,554, 344 51,554, 344
Y| |sheswiEEsRs 15, 081, 081 15, 081, 081 15,081, 081
| | | rmmaty - s 530, 108, 104 530, 108, 104 530, 108, 104
p | #| mammam R 160, 000 160, 000 160, 000
2| et 458, 801 458, 801 458, 801
2| Io—pzEsumasst (1) 597, 362, 330 0 0 597, 362, 330 0 597, 362, 330
L I D= 388,491, 282 388,491, 282 388, 491, 282
[/ e 83, 826, 943 83, 826, 943 83, 826, 943
1| pu| BEEE 96, 552, 911 96, 552, 911 96,552, 911
| | EEREA 19, 990, 749 19, 990, 749 19,990, 749
o | 73,562, 247 73,562, 247 73,562, 247
| | EEE S R < AR -32,306. 197 -32, 306, 197 -32, 306, 197
| [g-rzEmEmat (2) 630,117, 935 0 0 630, 117, 935 0 630, 117, 935
H-EXEMIBHE (3) = (1) - (2) 32, 755, 605 0 0 32, 755, 605 0 32,755, 605
2| ] A R s 11,364 11, 364 11,364
2| w|zotos-tzmwmsiRas 5,012, 390 5,012, 390 5,012, 390
| e EENNGsE (4) 5,023, 754 0 0 5023754 0 5023, 754
LI BRI 1,039, 136 1,039, 136 1,039, 136
9 ol EQAOY—EEBSIE R 0

1 [P—EXEESERE (5) 1,039, 136 0 0 1,039, 136 0 1,039, 1
| SEBNINERELE (6) = (4) — (5) 3,984, 618 0 0 3,984, 618 0 3,984,6
[EEEREE (7) = (3) + (6) 28,770, 987 0 0 28,770, 987 0 28,770, 987
|| MR S B RN 2,559, 000 2,559, 000 2,559, 000
H-CRSRHRA DU 6. 074, 900 6. 074, 900 6,074, 900
| T [4gRInzsst (8) 8. 633, 900 0 0 8. 633, 900 0 8,633,900
B |EEEEsmE-asE 51,716 51,716 51,716
18 BN ISR RS (IRH%) 0 0
| 2| BN @ SRR T AR 5,378, 000 5,378, 000 5,378, 000
PUE=iES 0 0
ol Bl s marsmm 6,074, 900 6,074, 900 6,074, 900
2 | zoforRIiEs 0 0
| [sspissmst (9) 11,504, 616 0 0 11,504, 616 0 11,504,616
BRIEHES (10) = (8) - (9) 2,870,716 0 0 ~2.870. 716 0 2,870,716
L EENEEA% (11) = (7) + (10) 31, 641. 703 0 0 =31, 641,703 0 31,641, 703
L [MiEREmEEISEEE (12) 447, 309, 045 447,309, 045 447,309, 045
s (SRR A EEEE (13) = (11) + (12) 415, 667, 342 0 0 415, 667, 342 0 415,667, 342
= [EASHEHEE (14) 0 0
* [Zofhomi &SR (15) 5,220, 000 5,220, 000 5220, 000
* [2OMOB T HETER (16) 4, 440, 000 4, 440, 000 4,440,000
L» [epstumsnieri2ss (17) = (13) + (14) + (15) — (16) 416, 447, 342 0 0 416, 447, 342 0 416, 447,342
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